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. Long Run Relative Frequency .
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P(Head)

	1
	T
	0
	0.00

	2
	H
	1
	0.50

	3
	T
	1
	0.33

	4
	T
	1
	0.25

	5
	H
	2
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0.40

	6
	T
	2
	0.33

	7
	T
	2
	0.29

	8
	T
	2
	0.25

	9
	H
	3
	0.33

	10
	T
	3
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Relative frequencies first 500 flips
1.00

0.40 J'{“W“’““‘W

0.20

1 500




0.30

	11
	H
	4
	0.36

	12
	H
	5
	0.42

	13
	T
	5
	0.38

	14
	H
	6
	0.43

	15
	T
	6
	0.40

	16
	H
	7
	0.44
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. Long Run Relative Frequency 2 .
Roll a die at least 20 times, calculating 

the long run relative frequency for an EVEN result

	Roll
	Result
	# Even so far
	P(Even)

	1
	
	
	

	2
	
	
	

	3
	
	
	

	4
	
	
	

	5
	
	
	

	6
	
	
	

	7
	
	
	

	8
	
	
	

	9
	
	
	

	10
	
	
	

	11
	
	
	

	12
	
	
	

	13
	
	
	

	14
	
	
	

	15
	
	
	


. Key Ideas .
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